FORMULA FOR FUNDAMENTAL MATTER OR HYDROGEN
AS CAPACITANCE LIMIT OF EM.R., OR LIGHT
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Where P= Proton, i.e. hydrogen, or 0 hysteresis E.M.R., or maximum

capacitance C = C’A spherical frequency of T0
Where f = frequency, meaning magnetic force vector with temporal
propagation below < C°
Where C = Aether induction rate, or sub-P hysteresis
Where T = time (below)

3
P=1C
ALL E.M.R. or LIGHT HAS A TEMPORAL (& cyclic =f) POLARITY BELOW P
TEMPORAL POLARITY =f (frequency) of C (E.M.R.) vs. Atomic Polarity of P
Aether hysteresis is 0 when the cycle f = C3
P = Aether atemporal homeostasis or f C3 . A non-propagating polarization
Toroidal (spherical system) f=P =T0

C3> E.M.R.

FREQUENCY PRECESSION BECOMES ATOMIC TOROIDAL PRECESSION
WHEN F C3

P has a frequency of TO but precession due to lag of
magnetic polarity, i.e. Atomic Polarity.
The field of P = gyromagnetic precession

P + field-of-P= Atom
fC3 = Spherical frequency = P
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